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Ideals for irreducible component#ﬂ)f Xpar

I = —u® 4 = 2u+1)

* 1 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI =(u®® —u3 +... —2u+1)

(i) Arc colorings

0
aio = \u
1
ayq = u2
U
a1 = \ud+u
w? 41
az = \y? + 242
—u
ag = U
—ud —2ud +u
ay = W+ 3ud+u
w + Tur? + 1600 + 1108 — 208 + 1
az = \ —yM — 8u'? — 23110 — 2848 — 1448 — 4u* + u?
w’ + 4u® + 4uB
ag = \ ¢y +5u” + Tu® +2u® +u
wl® + 9u + 3102 + 50ut + 37u® + 1208 + 4u* +1
a6 = \u'® + 10u'® + 39u!* + 74u'? + 7100 + 38u® + 18u’ + 4u® + u?
u?® 4+ 14u® + -+ 6ud +u
ar = \u?" + 150 4+ -+ 3u +u
u? + 1du® + -+ 6ud +u
ar = \u?" +15u? + .- +3ud +u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u3* + 443 — 80u3? + 76wl — 712630 4 64002 — 3712128 + 3144u2™ — 12568u26 +
9996u2° — 29012u2* + 21652u?® — 46856u>2 + 33008u2' — 53996120 + 36580ut® —
45668u'® + 3075217 — 2962410 + 203961 '® — 15384u'* + 1074063 — 676412 4+ 4600u't —
2980u'0 + 1824u° — 131218 + 688u” — 460u’ + 268u® — 128u® + 92u® — 20u2 + 12u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq WO+ w41
C2,Cs5,Cr u® + U 4 2u 41
€3,C4,C9 w P r2ut1
C10
Cs P+ 4+ 24u+ 5
c11 w3 —9u® 4 4 8u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢6 YO+ 9%+ 2y + 1
Co,Cs5, C7 y36+37y35+--~+18y+1
€3,C4,C9 v 41y 42y 41
C10
Cs Y =3y +. —6y+25
c11 vy 4 =30+ 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u=0.039758 + 0.8669381

2.43227 — 2.988221

—1.17573 + 2.505951

u= 0.039758 — 0.8669381

2.43227 4 2.988221

—1.17573 — 2.505951

u= 0.528849 + 0.6621641

5.28964 + 8.991841

2.24371 — 8.349101

u= 0.528849 — 0.6621641

5.28964 — 8.991841

2.24371 + 8.349101

u = —0.529498 + 0.6433261

5.68597 — 2.742181

3.17354 4 3.449621

u = —0.529498 — 0.6433261

5.68597 +- 2.742181

3.17354 — 3.449621

u= 0434530+ 0.6746201

—2.03776 + 5.194351

—3.33716 — 9.210251

u= 0434530 — 0.6746201

—2.03776 — 5.194351

—3.33716 + 9.210251

u= 0.279015 4 0.6970321

—3.00780 + 0.170191

—17.29367 — 0.752061

uw= 0.279015 — 0.6970321

—3.00780 — 0.170191

—7.29367 + 0.752061

u = —0.401351 + 0.5830591

0.07417 — 1.892351

3.15479 4 4.523201

u = —0.401351 — 0.5830591

0.07417 + 1.892351

3.15479 — 4.523201

u = —0.588252 + 0.2766241

6.75859 — 1.080651

5.91547 + 2.624821

u = —0.588252 — 0.2766241

6.75859 + 1.080651

5.91547 — 2.624821

u= 0.596249 + 0.2521761

6.48998 — 5.151157

5.34177 + 2.638861

u= 0.596249 — 0.2521761

6.48998 4 5.151151

5.34177 — 2.638861

u = —0.014393 + 1.3966001

1.85163 — 3.150041

0.+ 2.616591

u = —0.014393 — 1.3966001

1.85163 + 3.150041

0. —2.616591

u = —0.383996 + 0.3600021

0.721812 — 0.9631891

5.72873 + 5.376331

u = —0.383996 — 0.3600021

0.721812 + 0.9631891

5.72873 — 5.376331

u= 0.469156 + 0.1457481

—0.55346 — 2.030061

1.12004 + 4.044511

u= 0.469156 — 0.1457481

—0.55346 + 2.030061

1.12004 — 4.044511

u = —0.04789 + 1.529341 —5.61681 — 2.138611 0
u = —0.04789 — 1.529341 —5.61681 + 2.138611 0
u = —0.11001 4 1.573781 —7.26818 — 3.727061 0
u = —0.11001 — 1.573781 —7.26818 + 3.727061 0
u = —0.15462 + 1.582381 —1.80521 — 5.256821 0
u = —0.15462 — 1.582381 —1.80521 + 5.256821 0
u= 0.15565 4+ 1.589861 —2.30348 4 11.522401 0
uw= 0.15565 — 1.589861 —2.30348 — 11.522401 0




Solutions to I V—1(vol ++/=1CS) | Cusp shape
u = 0.08438 + 1.598111 —10.84150 + 1.553601 0
u = 0.08438 — 1.5981171 —10.84150 — 1.553607 0
u= 0.12378 4+ 1.595761 —9.75368 + 7.257061 0
u= 0.12378 — 1.595761 —9.75368 — 7.257061 0
u= 0.01864 + 1.603151 —5.85535 — 2.757811 0
u= 0.01864 — 1.603151 —5.85535 4 2.757811 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce w3+ u 4+ 4w 41
Co,C5,C7 w4+ 9P 4+ 2u+1
C3,C4,C9 wb P 2ut1
C10
c8 PO+ 4+ 24U+ 5
c11 w3 — U . 4 8u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, Co YO+ 9y 42y 41
C2,C5,C1 v+ 37y - 18y + 1
C3,C4,Cy y36+41y35+“._~_2y+1
C10
c8 Y0 —3y* + . — 6y +25
C11 y36+y35+730y+1




